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BSEH Practice Paper 4(2023-24)

CLASS:10th (Secondary) Code:D

Roll No.

गणित (आधार)

MATHEMATICS(BASIC)
[Time Allowed :3 hours] [Maximum Marks:80]

________________________________________________________

 कृपया जाँच कर ले कक इस प्र-पत मे मुद्त पषृ् 21 तथा
प्र 38 है I

 Please make sure that the printed pages in this question paper are
21 in number and it contains 38 questions.

 प्र-पत के दाई ओर ददए गए कोड नंबर को छात द्ारा उतर-
पुस्तका के पहले पषृ् पर ललखा जारा चादहए I

 The code No.on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 ककसी प्र का उतर देरा शरु कररे से पहले उसका कमामक
ललखरा होगा |

 Before beginning to answer a question, its Serial Number must be
written.

 अपरी उतर पुस्तका मे खाली पषृ्/ पषृ् र छोड़े I
 Don’t leave blank page/pages in your answer-book.
 उतर-पुस्तका के अततररकत कोई अनय शीट रहीम दी जाएगी I

अत: आ््यकतारुसार ही ललखे ् ललखा उतर र काटे I
 Except answer-book, no extra sheet will be given.Write to the

point and do not strike the written answer.
 परीकाथा अपरा रोल रमबर प्र-पत पर अ््य ललखे I
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 Candidates must write their Roll Number on the question paper.
 कृपया प्रश का उतर देरे से पहले यह सुतरस्चत केर ले कक

प्र-पत पूि् ् सही है,परीका के उपरामत इस समबमध मे कोई भी
दा्ा ््ीकार रहीम ककया जाएगा I

 Before answering the questions,ensure that you have been supplied
the correct and complete question paper,no claim in this
regard,will be entertained after examination.

सामान् ननर्द:

1. इस प्र पत मे 5 खंड क, ख, ग , घ और ङ हैं

2. खणड -क मे 1 से 20 तक एक –एक अमक के प्र हैI1 से 18 तक

बहुव्कलपीय(MCQs),एक शबद उतरीय, ररकत ्थार पूतत ् ,सतय /असतय प्र

तथा प्र समखया 19 और 20 अलभकथर-तक् आधाररत प्र हैं

3. खणड-ख मे 21 से 25 तक अतत लघु उतरीय(VSA) पकार के रो-रो

अमकश के प्र है I

4. खणड-ग मे 26 से 31 तक लघु - उतरीय(S A) पकार के तीन –तीन

अमकश के प्र है I

5. खणड-घ मे 32 से 35 तक दीघ् - उतरीय(LA) पकार के पाँच-पाँच अमकश

के प्र है I

6. खंड- ङ मे प्र समखया 36 से 38 तक पकरि अधययर आधाररत चार -

चार अमकश के प्र है I पतयेक पकरि अधययर मे आमतररक व्कलप

रो –रो अमकश के प्र मे ददया गया है I
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7. सभी प्र अतर्ाय् हैं हालाँकक, खणड-ख के 2 प्रश मे, खणड-ग के 2

प्रश मे, खणड-घ के 2 प्रश मे तथा खंड- ङ के 3 प्रश मे आमतररक

व्कलप का पा्धार ददया गया हैं

General Instructions:

1. There are 5 sections A, B, C, D and E in this question paper.

2. Section – A consists of one mark questions from 1 to 20. 1 to 18 are Multiple
Choice Questions (MCQs),One Word Answer,Fill in the blank,True/False and
question numbers 19 and 20 are Assertion-Reasoning based questions.

3. Section-B consists of Very Short Answer Type (VSA) questions of two
marks each from 21 to 25.

4. Section-C consists of short-answer (SA) type questions of three marks each
from 26 to 31.

5. Section-D consists of Long-Answer (LA) type questions of five marks each
from 32 to 35.

6. Question numbers 36 to 38 in Section-E are case study based questions of
four marks each. Internal choice is given in each case study question of two
marks each.

7. All questions are compulsory. However, provision of internal choice has been
made in 2 questions of Section-B, 2 questions of Section-C, 2 questions of
Section-D and 3 questions of Section-E.

खणड-क

SECTION-A

खणड-क मे 1 अंक के 20 प्न हैं

Section A consists of 20 questions of 1 mark each.
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1.यदद दो धरातमक पूिाणक p और q को p= ab2 और q= a3 b के रप मे
वयकत ककया जा सकता है;

a, b अभाजय समखयाएँ है, तो LCM(p, q) है:

(a) ab (b) a2b2 (c)a3b2 (d) a3b3

1.If two positive integers p and q can be expressed as p= ab2 and q= a3 b ;

a, b being prime numbers, then LCM(p, q) is :

(a) a b (b) a2b2 (c) a3b2 (d) a3b3

2. यदद LCM(91,26)=182. तब HCF(91,26) है:

(a)13 (b)26 (c)18 (d)9

2. Given that LCM(91,26)=182.Then HCF(91,26) is:

(a)13 (b)26 (c)18 (d)9

3.तरमरललणखत मे से कौर सी एक अपररमेय समखया रहीम है?

(a) 2 (b) 3 (c) 4 (d) 5

3.Which of the following is not an irrational number?

(a) 2 (b) 3 (c) 4 (d) 5

4.यदद α और β , 5x2-x+4 के शूनयक है, तो αβ का मार है:

(a)1
5

(b) 4
5

(c) 5
4

(d) −4
5
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4.If α and β are the zeroes of 5x2 − x + 4, then the value αβ is:

(a)1
5

(b) 4
5

(c) 5
4

(d) −4
5

5.तरमरललणखत मे से ककस समीकरि का मूल 2 है?

(a)x2-4x+5=0 (b)x2+3x -12=0

(c)2x2-7x+6=0 (d)3x2- 6x- 2= 0

5.Which of the following equations has 2 as a root?

(a)x2-4x+5=0 (b)x2+3x -12=0

(c)2x2-7x+6=0 (d)3x2- 6x- 2= 0

6. उस AP का 18्ाँ पद बताओ सजसके पहले दो पद -6 और 1 है:

(a)113 (b) 112 (c) 110 (d)107

6.The 18th term of the AP whose first two terms are -6 and 1 is:

(a)113 (b) 112 (c) 110 (d)107

7.बब मदु P(2,3) की मूल बबमदु से दरूी है:

(a)13 (b) 13 (c) 5 (d) 7

7.The distance of the point P(2,3) from the origin is :

(a)13 (b) 13 (c) 5 (d) 7
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8.आकृतत DE ∥BC मे, किर EC=

(a) 6cm (b) 2cm (c) 4cm (d)8cm

8.In Figure DE ∥ BC. Then EC =

(a) 6cm (b) 2cm (c) 4cm (d)8cm

9. ददए गए चचत मे, AB, O पर केसन्त ्तृ की एक ्पशरे्खा हैं यदद

OA=6cmऔर ∠OAB=30° है, तो ्तृ की बतजया है:

(a)3cm (b)3 3 (c)2cm (d) 3

9. In the given figure, AB is a tangent to a circle centred at O. If OA=6cm and
∠OAB = 30°, then the radius of the circle is:

(a)3cm (b)3 3 (c)2cm (d) 3
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10. 3 सेमी बतजया ्ाले ्तृ के के् से 5 सेमी की दरूी पर स्थत एक बबमदु A से

्पश् रेखा की लमबाई x सेमी हैं तो x का मार ______________ है

10. The length of a tangent from a point A at distance 5 cm from the centre of
the circle of radius 3 cm is x cm. Then the value of x is______________

11.एक ्तृ को दो बब मदओुम पर पतततछेद कररे ्ाली रेखा को_____________

कहा जाता है |

11.A line intersecting a circle in two points is called_____________

12. जैसे-जैसे θ बढता है, sinθ का मार भी बढता हैं (सतय/असतय)

12.The value of sin θ increases as θ increases.(True /False)

13.1+tan2 �
1+cot2 �

=

(a) sec2 � (b) -1 (c) cot2 A (d)tan2 �

14.यदद sinθ-cosθ=0, तो θ का मार है:

(a) 300 (b) 450 (c) 900 (d)00

14.If sin θ − cos θ = 0, then the value of θ is:

(a) 300 (b) 450 (c) 900 (d)00
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15. 12 मीटर ऊँचे टा्र के शीर् से जमीर पर एक बबमदु का अ्रमर कोि 30°

हैं टा्र के शीर् से बब मदु की दरूी है:

(a) 12m (b)24m (c)6m (d)12 3 m

15.The angle of depression of a point on the ground from the top of tower 12m
high is 300.The distance of the point from the top of the tower is :

(a) 12m (b)24m (c)6m (d)12 3 m

16. 6 सेमी बतजया ्ाले एक ्तृ के एक बतजयखमय का केतिल, यदद बतजयखमय

का कोि 60° है, ___________ है|

16. The area of a sector of a circle with radius 6 cm if angle of the sector is
60°is___________

17. 21 सेमी बतजया ्ाले एक ्तृ मे, एक चाप के् पर 60° का कोि बराती हैं

तो चाप की लमबाई___________ है|

17. In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre.
Then the length of the arc is___________

18.पासश के जोड़े को िेकरे पर, दो समखयाएँ पारत होरे की पातयकता कया है

सजरका योग 10 है?

(a) 5
18

(b) 1
6

(c) 1
12

(d) 1
4

18.In a throw of pair of dice ,what is the probability of getting two numbers
whose sum is 10?

(a) 5
18

(b) 1
6

(c) 1
12

(d) 1
4
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प्र 19और 20 के ललए ददशा तरद्श: प्र समखया 19और 20 मे, अलभकथर (A) के

बाद तक्(R) का कथर हैं (a), (b), (c)और (d) मे से सही व्कलप चुरे जैसा कक रीचे

ददया गया है:

(a) अलभकथर (A)और तक् (R) दोरश सही है और तक् (R), अलभकथर (A) की सही

वयाखया करता हैं

(b) अलभकथर (A)और तक् (R) दोरश सही है और तक् (R), अलभकथर(A) की सही

वयाखया रहीम हैं

(c) अलभकथर (A) सही है, परनतु तक् (R) ) गलत है I

(d) अलभकथर (A) गलत है, परनतु तक् (R) सही हैI

19.अभिकथन(A): यदद दो गोलश का आयतर 27:8 के अरुपात मे है, तो उरकी पषृ्ठय

केतिल 3:2 के अरुपात मे हैं

तक्(R): गोले का आयतर = 4
3

πr3; गोले का पषृ्ठय केतिल = 4πr2

20. अभिकथन: यदद बारमबारता बमटर का माधयकऔर बहुलक कमशम 150और 154 है,

तो इसका माधय 148 हैं

तक्(R): बारमबारता बमटर का माधय, माधयकऔर बहुलक सूत ,

बहुलक = 3 माध्क - 2 माध् के रप मे समबमचधत हैं
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Direction for Questions 19 & 20: In question numbers 19 and 20, a statement
of Assertion(A) is followed by a statement of Reason(R).Choose the correct
options from (a),(b),(c) and (d) as given below:

(a)Both Assertion(A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion(A).

(b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not correct
explanation of Assertion(A).

(c) Assertion(A) is true but Reason(R) is false.

(d) Assertion(A) is false but Reason(R) is true.

19.Assertion: If the volume of two spheres are in the ratio 27:8,then their
surface areas are in the ratio 3:2.

Reason:Volume of a sphere = 4
3

��3;surface area of a sphere = 4��2

20. Assertion:If the median and mode of a frequency distribution are 150 and
154 respectively,then its mean is 148.

Reason:Mean ,median and mode of a frequency distribution are related as
mode = 3median- 2 mean.

खणड –ख

SECTION-B

खणड-ख मे 2 अंको के 5 प्न हैं

Section B consists of 5 questions of 2 marks each.

21. p के ककस मार के ललए तरमरललणखत रैणखक समीकरि युगम के अपररलमत

रप से अरेक हल हशगें

(p-3)x + 3y = p

px+py = 12
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21.For what value of p will the following pair of linear equations have
infinitely many solutions.

(p-3)x + 3y = p

px+py = 12

अथवा

OR

21. xऔर y के ललए हल करे:

x =2y-1; 2x+3y =12

21. Solve for x and y:

x =2y-1; 2x+3y =12

22. बब मदओुम (- 3, 10)और (6, - 8) को लमलारे ्ाले रेखाखमय को बब मदु (- 1, 6)

सजस अरुपात मे व्भासजत करता हैं ्ह अरुपात जात कीसजएं

22. Find the ratio in which the line segment joining the points (– 3, 10) and

(6, – 8) is divided by (– 1, 6).

23. ∆ PQR की भुजाओम PRऔर QR पर Sऔर T इस पकार बबमदु है कक

∠ P = ∠ RTS हैं ददखाएँ कक ∆ RPQ ~ ∆ RTS.

23. S and T are points on sides PR and QR of ∆ PQR such that ∠ P = ∠ RTS.
Show that ∆ RPQ ~ ∆ RTS.
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24. यदद sin(A-B)= 1
2
और cos(A+B)= 1

2
;

00<A+B≤ 90°; A > �,तो A और Bजात कीसजए|

24. If sin(A-B)= 1
2
and cos(A+B)= 1

2
; 00<A+B≤ 90°; A > �, ���� � ��� �.

अथवा

24. बतभुज ABC मे, जो B पर समकोि है, यदद tan A = 1
3
है तो

sin A cos C + cos A sin C का मार जात कीसजए

24. In triangle ABC, right-angled at B, if tan A = 1
3
then

find the value of: sin A cos C + cos A sin C

25. एक घड़ी की लमरट की सुई की लमबाई 14 सेमी है. लमरट की सुई द्ारा 5
लमरट मे तय ककया गया केतिल जात करें
25. The length of the minute hand of a clock is 14 cm. Find the area swept by
the minute hand in 5 minutes.

खणड –ग

SECTION-C

खणड -ग मे 3 अंको के 6 प्न हैं

Section C consists of 6 questions of 3 marks each.

26.लसदध कीसजए कक √3 एक अपररमेय समखया हैं

26.Prove that 3 is an irrational number.
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27.एक दव्घात बहुपद बराइये सजसका एक शूनयक 8 है और शूनयकश का

गुिरिल -56 हैं

27.Form a quadratic polynomial whose one zero is 8 and the product of zeroes
is -56.

28. दो अमकश की एक समखया के अमकश का योग 9 हैं साथ ही, इस समखया का रौ

गुरा, अमकश के कम को उलटरे पर पारत समखया का दोगुरा हैंसमखया जात करे|

28. The sum of the digits of a two-digit number is 9. Also, nine times this
number is twice the number obtained by reversing the order of the digits. Find
the number.

अथवा

OR

28. एक राजमाग् पर ्थार Aऔर B 100 ककमी दरू हैं एक ही समय मे एक

कार A से और दसूरी B से पारमभ होती हैं यदद कारे अलग-अलग गतत से एक

ही ददशा मे चलती है, तो ्े 5 घमटे मे लमलती हैं यदद ्े एक दसूरे की ओर

याता करती है, तो ्े 1 घमटे मे लमलती हैं दोरश कारश की गतत कया है?

28. Places A and B are 100 km apart on a highway. One car starts from A and
another from B at the same time. If the cars travel in the same direction at
different speeds, they meet in 5 hours. If they travel towards each other, they
meet in 1 hour. What are the speeds of the two cars?

29. y-अक पर एक बबमदु खोजे जो बब मदु A(6, 5)और B(-4,3).

से समार दरूी पर स्थत हो |

29. Find a point on the y-axis which is equidistant from the points A(6, 5) and

B(– 4, 3).
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30. लसदध कीसजए कक sec2 θ + cosec2 θ = tanθ + cotθ

30.Prove that sec2 θ + cosec2 θ = tanθ + cotθ

अथवा

OR

30.स्स्लमका cosec2 A = 1 + cot2 Aको लागू करके लसदध कीसजए कक

cosA−sinA+1
cosA+sinA−1

= cosecA + cot A

30.Prove that
cosA−sinA+1
cosA+sinA−1

= cosecA + cot A, using the identity

cosec2 A = 1 + cot2 A

31. 1.5 मीटर लमबा एक लड़का 30 मीटर ऊम ची इमारत से कुछ दरूी पर खड़ा हैं

जैसे-जैसे ्ह इमारत की ओर चलता है, उसकी आँखश से इमारत के शीर् तक

उनरयर कोि 30° से 60° तक बढ जाता हैं जात कीसजए कक ्ह इमारत की

ओर ककतरी दरूी तक चलां

31. A 1.5 m tall boy is standing at some distance from a 30 m tall building. The
angle of elevation from his eyes to the top of the building increases from 30° to
60° as he walks towards the building. Find the distance he walked towards the
building.

खणड-घ

Section –D

Section D consists of 4 questions of 5 marks each.

खणड-घ मे 5 अंको के 4 प्न हैं
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32. AP के 4्े और 8्े पदश का योग 24 है और 6्े और 10्े पदश का योग 44

हैं AP के पहले तीर पद जात कीसजएं

32. The sum of the 4th and 8th terms of an AP is 24 and the sum of the 6th and
10th terms is 44. Find the first three terms of the AP.

33. एक बतभुज ABC की भुजाएँ ABऔर BCऔर मासधयका AD कमशम भुजाओम

PQऔर QRऔर ∆ PQR की मासधयका PM के समारुपाती है (चचत देखे)ं

ददखाएँ कक ∆ ABC ~ ∆ PQR.

33. Sides AB and BC and median AD of a triangle ABC are respectively
proportional to sides PQ and QR and median PM of ∆ PQR (see Fig. ). Show
that ∆ ABC ~ ∆ PQR.

34. एक गुलाब जामुर मे उसकी माता का लगभग 30% तक चीरी की चाशरी

होती हैं जात कीसजए कक 45 गुलाब जामुरश मे लगभग ककतरी चाशरी लमलेगी,

पतयेक का आकार एक लसलेयर जैसा है सजसके दो अधग्ोलाकार लसरे है सजरकी

लमबाई 5 सेमी और वयास 2.8 सेमी है (चचत देखे)ं
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34. A gulab jamun, contains sugar syrup up to about 30% of its volume. Find
approximately how much syrup would be found in 45 gulab jamuns, each
shaped like a cylinder with two hemispherical ends with length 5 cm and
diameter 2.8 cm (see Fig. ).

अथवा

OR

रशीद को उसके जनमददर के उपहार के रप मे एक रलेइमग टॉप (लटटू) लमला,

सजस पर आ्चयज्रक रप से कोई रमग रहीम थां ्ह इसे अपरे केयॉर से

रमगरा चाहता थां लटटू एक शमकु के आकार का है सजसके ऊपर एक गोलाध् है

(चचत देखे)ं पूरे लटटू की ऊम चाई 5 सेमी है और वयास 3.5 सेमी हैं ्ह केतिल

जात कीसजए सजसे उसे रमगरा हैं (π = 22
7
लीसजए)

Rasheed got a playing top (lattu) as his birthday present, which surprisingly had
no colour on it. He wanted to colour it with his crayons. The top is shaped like a
cone surmounted by a hemisphere (see Fig .). The entire top is 5 cm in height
and the diameter of the top is 3.5 cm. Find the area he has to colour.

(Take π = 22
7
)
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35. . यदद रीचे ददए गए बमटर का माधयक 28.5 है, तो xऔर y का मार जात

कीसजएं

35. If the median of the distribution given below is 28.5, find the values of x
and y.

Class interval
्ग् अमतराल

Frequency
बारमबारता

0-10 5
10-20 x
20-30 20
30-40 15
40-50 y
50-60 5
Total 60

अथवा

OR

35. रीचे दी गई ताललका एक इलाके मे 25 घरश के भोजर पर दैतरक वयय को

दशा्ती हैं

रैननक व््
(₹ मे)

100 - 150 150 - 200 200 - 250 250 - 300 300 - 350

पररवारो की संख्ा 4 5 12 2 2

एक उपयुकत व्चध द्ारा भोजर पर हुआ माधय वयय जात कीसजएं

35. The table below shows the daily expenditure on food of 25 households in a
locality.
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Daily expenditure
(in Rs)

100 - 150 150 - 200 200 - 250 250 - 300 300 - 350

Number of
households

4 5 12 2 2

Find the mean daily expenditure on food by a suitable method.

खणड-ङ

Section-E

Case study based questions

36.एक मोटर बोट की गतत 20 ककमी/घमटा है. 15 ककमी की दरूी तय कररे मे

रा् को धारा के अरुकूल जारे की तुलरा मे धारा के पततकूल जारे मे 1 घमटा

अचधक लगां

उपरोकत जारकारी के आधार पर तरमरललणखत प्रश के उतर दीसजये:

(i) मारा धारा की गतत x ककमी/घमटा है, तो धारा के पततकूल मोटर रा् की गतत

जात कीसजएं (1)

(ii) गतत, दरूी और समय के बीच कया समबमध है? (1)

(iii)धारा की गतत के ललए दव्घात समीकरि जात कीसजएं (2)

या

(iii)धारा की गतत कया है ? (2)
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36.The speed of a motor boat is 20km/h. For covering the distance of 15km ,the
boat took 1 hour more for upstream than downstream.
Based on the above information ,answer the following questions:

(i) Let speed of the stream be x km/h,then find the speed of the motor boat in
upstream. (1)
(ii)What is the relation between speed,distance and time? (1)
(iii)Find the quadratic equation for the speed of the current. (2)
OR
(iii)What is the speed of the current? (2)

37.्कूल खेल सलमतत रे छातश और कमच्ाररयश के ललए खेल दद्स टी-शट् के
ललए लोगो डयजाइर कररे के ललए 4 छातश का चयर ककयां लोगो डयजाइर चचत
मे ददए गए अरुसार हैं ददए गए चचत मे, के् O ्ाला एक ्तृ ∆ABC मे इस
पकार अमककत है कक यह भुजाओम AB,BCऔर CA को कमशम बबमदु D,Eऔर F

पर ्पश् करता हैं भुजाओम AB,BCऔर CA की लमबाई कमशम 12 सेमी, 8 सेमी
और 10 सेमी हैं
उपरोकत जारकारी के आधार पर तरमरललणखत प्रश के उतर दीसजये:
(i) AD की लमबाई जात कीसजएं (1)

(ii)BD की लमबाई जात कीसजएं (1)

(iii)CF की लमबाई और ∆OAB का केतिल जात करे (2)

या
(iii) ∆ABC का केतिल जात कीसजएं (2)
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37.The school sports committee selected 4 students to design logo for sports day
T-shirts for students and staff.The logo design is as given in the figure.In the
given figure,a circle with centre O is inscribed in a ∆ABC such that it touches
the sides AB,BC and CA at points D,E and F respectively.The length of sides
AB,BC and CA are 12cm,8cm and 10cm respectively.

Based on the above information ,answer the following questions:

(i)Find the length of AD. (1)

(ii)Find the length BD. (1)

(iii)Find the length of CF and area of ∆OAB (2)
OR

(iii) Find the area of ∆ABC . (2)
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38.एक सरताहामत जोरी अपरे परर्ार के साथ ताश खेल रहा थां यके मे 52

पते हैं यदद उसके भाई रे एक पता तरकालां
उपरोकत जारकारी के आधार पर तरमरललणखत प्रश के उतर दीसजये:
(i)लाल रमग का बादशाह लमलरे की पातयकता जात कीसजएं (1)

(ii) िेस काय् लमलरे की पातयकता जात कीसजएं (1)

(iii) पार का गुलाम लमलरे की पातयकता जात कीसजए (2)

या
(iii) लाल रमग का िेस काय् लमलरे की पातयकता जात कीसजएं (2)

38.On a weekend Joni was playing cards with his family. The deck has 52 cards.
If his brother drew one card.

Based on the above information ,answer the following questions:

(i)Find the probability of getting a king of red colour. (1)

(ii) Find the probability of getting a face card. (1)

(iii) Find the probability of getting a jack of hearts (2)

OR

(iii) Find the probability of getting a red face card. (2)


